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¢ frustration
¢ [ower enrollments

¢ lack of innovation
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THE CAUSE
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THE CAUSE

Traditional question:

Calculate:

(@) the current in the 2-£2
resistor, and

() the potential difference [*&
between points a and &.




THE CAUSE

Conceptual question:

When 51is closed, what
happens to the:

(@) intensities of A and B?
() intensity of C?
(¢) current through battery?
(d) voltage drop across

A, B, and C?
(e) total power dissipated?
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Results

Traditional Conceptual
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Peer Instruction:

* prerequisites
¢ lectures

¢ (Conceplest™
¢ feedback
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PEER INSTRUCTION
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PEER INSTRUCTION
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FEEDBACK

Methods:

¢ show of hands

* scanning forms

* hand-held computers

* computer testing
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COMPUTER TESTING

‘measure
¢ test understand

Purpose
»



COMPUTER TESTING

ing

Automate test

¢ [nstant results

¢ [nstant feedback



© Results

® Student reactions
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What about problem solving,..?
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